(a) Alkérdés nélkiil:

SELECT PCl.merevlemez
FROM PC AS PC1, PC AS PC2
WHERE PCl.merevlemez = PC2.merevlemez AND PC1l.modell# PC2.modell;

Alkérdéssel:

SELECT PCl.merevlemez

FROM PC AS PC1

WHERE PCl.merevlemez IN (SELECT PC2.merevlemez
FROM PC AS PC2

WHERE PCl.modell# PC2.modell );

Még elegénsabban:

SELECT merevlemez

FROM (

SELECT merevlemez, COUNT(*) AS X
FROM pc

GROUP BY merevlemez

)
WHERE X > 2;

(b)

SELECT Termékl.gyarté

FROM Termék AS Termékl, Termék AS Termék2, PC AS PC1, PC AS PC2

WHERE Termékl.gyart6=Termék2.gyart6 AND Termékl.modell=PCl.modell AND
Termék2.modell=PC2.modell AND Termékl.modell#Termék2.modell AND
PCl.sebesség>133 AND PC2.sebesség>133

UNION

SELECT Termék3.gyarté

FROM Termék AS Termék3, Termék AS Termék4, PC AS PC3, Laptop AS Laptopl

WHERE Termék3.gydrt6=Termék4.gydrt6 AND Termék3.modell=PC3.modell AND
Termék4.modell=Laptopl.modell AND Termék3.modell#Termék4.modell AND
PC3.sebesség>133 AND Laptopl.sebesség>133

UNION

SELECT Termék5.gyartd

FROM Termék AS Termék5, Termék AS Termék6, Laptop AS Laptop2, Laptop AS Laptop3

WHERE Termék5.gyarté=Termék6.gyartd AND Termék5.modell=Laptop2.modell AND
Termék6.modell=Laptop3.modell AND Termék5.modell#Termék6.modell AND
Laptop2.sebesség>133 AND Laptop3.sebesség>133 ;

Kicsit egyszeriibben ugyanez:

SELECT PCl.gyarté

FROM Termék NATURAL JOIN PC AS PC1, Termék NATURAL JOIN PC AS PC2

WHERE PC1.gyart6=PC2.gyart6 AND PCl.modellZPC2.modell AND
PC1.sebesség>133 AND PC2.sebesség>133

UNION

SELECT PC3.gy4rt6

FROM Termék NATURAL JOIN PC AS PC3, Termék NATURAL JOIN Laptop AS Laptopl

WHERE PC3.gyarté=Laptopl.gydrt6 AND PC3.modell#Laptopl.modell AND
PC3.sebesség>133 AND Laptopl.sebesség>133

UNION

SELECT Laptop2.gyarté

FROM Termék NATURAL JOIN Laptop AS Laptop2, Termék NATURAL JOIN Laptop AS Laptop3

WHERE Laptop2.gyarté=Laptop3.gyarté AND Laptop2.modell#Laptop3.modell AND
Laptop2.sebesség>133 AND Laptop3.sebesség>133 ;



Sokkal egyszer{ibben és elegdnsabban:

SELECT gyart6
FROM (
SELECT gyérté, COUNT(*) AS X
FROM termék, (
(SELECT modell FROM pc WHERE sebesség > 133)
UNION
(SELECT modell FROM laptop WHERE sebesség > 133) )
AS a
WHERE termék.modell = a.modell
GROUP BY gyarté )
WHERE X > 2;

(c)

SELECT Laptop.modell

FROM Laptop

WHERE Laptop.sebesség < ALL
(SELECT PC.sebesség
FROM PC );

Misik megoldés:

SELECT Laptop.modell
FROM Laptop
WHERE NOT EXISTS
(SELECT PC.modell
FROM PC
WHERE PC.sebesség < Laptop.sebesség );

Elegansan:

SELECT modell
FROM laptop
WHERE sebesség <
(SELECT MIN(sebesség) FROM pc);

(d)

SELECT Termék.gyarté, AVG (Laptop.képerny6)
FROM Termék, Laptop

WHERE Termék.modell=Laptop.modell
GROUP BY Termék.gyarto;



